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¡ØÚðòÆðáÚðú÷ü è÷Ãðô òÐðÇ÷áäð 
 

1. çðØðó ÑßäÐð ¡òÐðãðñÚðá èøü. 

2. òÐðÇ÷áäðú÷ü ¨îú÷ Øðâðó ØððüòÃð ÑðÁÿÐð÷ ãð çðÙð»ðÐð÷ ¨÷î çðñÆð-çðñÆð ÑßäÐð ÑðÅð ÃðÆðñ 

ÑßäÐð-çðè-£ÃÃðÜ ÑðôòçÃð¨îð (QAB) Ùð÷ü ¡ðãðäÚð¨î Ñßòãðòæ¾ ¨îÜÐð÷ è÷Ãðô 10 

òÙðÐð¾ú÷ü ¨îð ¡òÃðòÜ¨Ãð çðÙðÚð òÇÚðñ ¸ðñ¦±ðñ. 

3. ÑßäÐð-ÑðÅð ÃðÆðñ QAB Ùð÷ü ò¨îçðó Øðó Ñß¨îðÜ ¨îó Ñßòãðòæ¾ ¨îÜÐð÷ ¨÷î Ñðõãðá 

¡ØÚðòÆðáÚðú÷ü ¨îú÷ ¨ôîâð Ñðöæ¿ çðü®Úðñ ¨îó ¸ðñûµð ¡ãðäÚð ¨îÜ âð÷Ððó µðñòè¦ 

ÃðÆðñ ò¨îçðó Øðó Ñß¨îðÜ ¨îó òãðçðü±ðòÃð èú÷Ðð÷ ÑðÜ ãðóêð¨î ¨îú÷ çðõòµðÃð ¨îÜ 

ÑßäÐð-ÑðÅð/ QAB ¨îó ÇõçðÜó ÑßòÃð ÑßðÑÃð ¨îÜÐðñ µðñòè¦.  

4. ÑßäÐð-ÑðÅð ÃðÆðñ QAB Ùð÷ü çðÙðçÃð Ñßòãðòæ¾Úðñû ¨îðâð÷/ Ððóâð÷ ×ðñùâð Ñðñ¢áü¾ 

Ñð÷Ðð çð÷ ¨îÜ÷ü.  

5. ÑßäÐðú÷ü ¨÷î òèÐÇó ¡Æðãðñ §ü±ß÷¸ðó ÑßðÞÑð Ùð÷ü Çú÷Ððú÷ü Ùð÷ü çð÷ ò¨îçðó Øðó Øðñæðñ Ùð÷ü 

ãðÃðáÐðó çðü×ðüÏðó ¡Æðãðñ ¡ÐÚð Åðôò¾ èú÷Ðð÷ ÑðÜ ¦÷çðó Åðôò¾Úðú÷ü ¨îó çðÙð»ð ãð 

òÐðÜð¨îÜÂð ¨îó ¡Ñð÷êðñ çÐðñÃð¨î çÃðÜ ¨÷î ¡ØÚðòÆðáÚðú÷ü çð÷ ¨îÜÃð÷ èô¦ ¦÷çð÷ 

ÑßäÐðú÷ü ¨îú÷ ¡ðÑðòÃÃð Úðú÷±Úð Ððèó ÙðñÐðñ ¸ðñ¦±ðñ. £¨Ãð ¨÷î çðüÇØðá Ùð÷ü 

¡ØÚðñãð÷ÇÐðú÷ü ÑðÜ ¡ðÚðú÷±ð ãÇðÜð òãðµðñÜ Ððèó ò¨îÚðñ ¸ðñ¦±ðñ.  

6. ¡ØÚðòÆðáÚðú÷ü è÷Ãðô ÑðÜóêðñ ¨÷î ÇúøÜðÐð ò¨îçðó Øðó Ñß¨îðÜ ¨÷î ¨÷îâ¨Úðõâð÷¾Ü, 

âðúù±ð ¾÷×ðâð , Ùðú÷×ðñ¢áâð Òîú÷Ðð, Ñð÷¸ðÜ ¡Æðãðñ ¡ÐÚð ò¨îçðó Øðó Ñß¨îðÜ ¨÷î 

çðüµðñÜ ãð ±ðÂðÐðñ ÚðüÅð ¨îð ÑßÚðú÷±ð ÑðõÂðáÃðý ãðò¸ðáÃð ÃðÆðñ ÇüÀÐðóÚð èø.  

7. ÜÒî ¨îðÚðá ¨÷îãðâð  ÑßäÐð-ÑðÅð ¨÷î §üòÃðÙð Çú÷ Ñðöæ¿ú÷ü ÑðÜ ò¨îÚðñ ¸ðñ çð¨îÃðñ 

èø.  
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iz'u i=&"k"B ¼xf.kr ,oa rkfdZd ;ksX;rk½ 
 

le;&3 ?kaVk                                                                           vf/kdre vad&200 

[k.M&1 
 SECTION-1 

 

¼vad&¿2×20À 40 vad½ 
¼izR;sd iz'u&02 vad½ 

 

iz'u&1  x.kuk dhft,
     

(�������)��(���	���)�

���×�������×���
 

Question No 1- Calculate  
(�������)��(���	���)�

���×�������×���
      

iz'u&2 eku Kkr dhft;s 
Question No 2- Find the value.  11� + 12� + 13� + 14� + ⋯ ∙∙∙∙∙∙∙∙∙ +20� 
iz'u&3 ;fn �

 �
=

�

�
 rc (� + �): (� + 7) dk eku dhft;s 

Question No 3- If 
�

 �
=

�

�
 then find the value of (� + �): (� + 7) 

iz'u&4 ;fn �: � = 4: 5 ,oa �: ! = 3: 4, rc �: �: ! dk eku Kkr djksA 

Question No 4-     If  �: � = 4: 5 and �: ! = 3: 4, then find the value of a:b:c 

 

iz'u&1  ml vuqikr dks Kkr djks ftlesa fcUnq #(−8, 3) fcUnqvksa (2, −2) vkSj (−4, 1) dks tksM+us okyh js[kk dks 
foHkkftr djrk gSA  
Question No 1-  Find the ratio in which P (-8, 3) divides the join of (2, -2) and (-4, 1) 

iz'u&2 nwjh okys lw= dk mi;ksx dj fcUnqvksa  &(−2, 3), '(1, 2) vkSj ((7, 0) dks lejs[k n'kkZb;sA 
 Question No 2-   Use distance formula to show that the points A(-2,3), B(1, 2) and C (7,0) are collinear. 
iz'u&3  36* dks 'kfrd eki esa ifjofrZr dhft,A  
Question No 3- Convert  360  into centesimal measure.   
iz'u&4 60* dks.k dks jsfM;u esa O;Dr dhft,A  
Question No 4- Express 60* angle in radian. 
 
iz'u&1  vYxksfjFke fof/k D;k gS \  
Question No 1-What is Algoritham Method. 

iz'u&2 lekUrj ek/; dh ifjHkk"kk fyf[k, \  
Question No 2-Define Arithmetic Mean.  

iz'u&3 izkf;drk dk ;ksx izes; fyf[k, \  
Question No 3-State the Additive law of Probality 

iz'u&4 cgqyd dk eku Kkr dhft,] tgkWa lekUrj ek/; vkSj ekf/;dk Øe'k% 18 vkSj 15 gS A  
Question No 4- Find Mode, where Arithmetic Mean and Median  are 18 and 15 respectively. 
 

iz'u&1  ewY;kadu dhft, 320 dk 28% $ 280 dk 50%  
Question No 1- Evaluate 28% of 320 + 50% of 280 

iz'u&2- +,

 �*
 dks çfr'kr~ esa ifjofrZr djksA 

Question No 2- Change 
+,

 �*
  into percentage. 

iz'u&3 foØ; ewY; Kkr dhft, ;fn 
      Ø; ewY; ¾ :- 56-25  ykHk ¾ 20%    
Question No 3- Find selling price, where 

     Cost price = Rs. 56.25  Gain   = 20% 

iz'u&4 A ,oa B ,d lkFk fdlh dk;Z dks 3 fnuksa esa djrs gSaA A vdsys fdlh dk;Z dks 12 fnuksa esa djrk gS rks B vdsys 
ml dk;Z dks fdrus fnuksa esa iw.kZ djsxk\ 
Question No 4- A and B together can complete a piece of work in 3 days. If A alone can complete the same work in 12 days, in 

how many days can B alone complete the work. 
 

iz'u&1 ;fn $ dk vFkZ ×,  dk vFkZ $] & dk vFkZ $ ,oa $ dk vFkZ & gks] rks 20&8 4$3$2 dk eku Kkr djksA 
Q.No. 1-   If + means ×,  means +, - means + and + means - , then find the value of 20-8  4+3+2 
iz'u&2 'kCn FAINTS ds v{kjksa dks o.kkZuqØe esa yxkus ij fdrus v{kj mlh Øe esa jgsaxs] ftl Øe esa os 'kCn esa gSa\ 
Q.No.-2   If letters of word FAINTS are arranged alphabetically then find the number letters whose order remain unchanged 
iz'u&3 'kCn PRIMARY esa ,sls v{kjksa ds fdrus tksM+s gSa ftuds çR;sd ds chp 'kCn esa mrus gh v{kj gS ftrus muds chp 
vaxzsth o.kZekyk esa gksrs gSa\ 
Q.No.-3   How many pair of letters are there in the word PRIMARY having the same number of letters between them in this 

word as they have in the English alphabet. 
iz'u&4 v{kjksa ds fuEufyf[kr tksM+ksa esa ml tksM+s dks çkIr djks tks bl lewg dk ugha gS& VX, DF, NP, PS, JL 
Q.No.-4   Find the pair of letters from the following pairs of letters which does not belong to the group VX, DF, NP, PS, JL 

 

Hkkx&1 

 

Hkkx&2 

 

Hkkx&3 

 

Hkkx&5 

 

Hkkx&4 



iz'u i=&"k"B ¼xf.kr ,oa rkfdZd ;ksX;rk½ 
 

[k.M&2 
 SECTION-2 

 

¼vad&¿4×10À 40 vad½ 
¼izR;sd iz'u&04 vad½ 

 
iz'u&5  mu lHkh 02 vadksa dh la[;kvksa dk ;ksx Kkr djks tks 03 ls foHkkT; gksA  
Question No 5- Find the sum of all two digits numbers divisible by 03.      
iz'u&6  nks la[;kvksa dk varj 11 gS ,oa muds ;ksx dk 1@5ok¡ 9 gSA la[;kvksa dks Kkr djksA 
Question No 6-  The difference of two numbers is 11 and one-fifth of their sum is 9. Find the number. 
 

iz'u&5 - fcUnqvksa (3, −1) ,oa (−6, 5) dks tksM+us okyh js[kk f=Hkkftr dh tkrh gSA f=Hkkftr djus okys fcUnqvksa ds 
funsZ'kkad Kkr djksA 
 Question No 5-  The line joining the points (3, -1) and (-6, 5) is trisected. Find the Coordinates of the points of trisection. 
iz'u&6 ;fn cos 0 =

+

 1
  rc sin 0 ,oa tan 0 dk eku Kkr djksA 

Question No 6-  If cos 0 =
+

 1
  then find the values of sin 0 and tan 0 

 

 

iz'u&5 ¼8-625½10 dks nk'kfed vadksa esa ifjofrZr dhft, A 
Question No 5- Convest (8.625)10  into Binary number.  

iz'u&6 }an ;ksx ds iz;ksx ls fdlh nks ;k rhu vadksa okyh la[;k dk oxZ Kkr djus dh fof/k le>kb;s A  
Question No 6-Explain the method to find the square roots of two or three digit number, using mixed addition.  
 

iz'u&5  nks la[;kvksa dk varj 1450 gS ;fn ,d la[;k dk 7% nwljh la[;k ds 9% ds cjkcj gS rks nksuksa la[;k,¡ çkIr 
djksA 
Question No 5- Different of two numbers is 1450. If 7% of one number is 9% of the other number, find the two numbers. 

iz'u&6 A, B ,oa C dk vkSlr Hkkj 45 fd-xzk- gSA ;fn A vkSj B dk vkSlr Hkkj 40 fd-xzk- vkSj B ,oa C dk vkSlr Hkkj 
43 fd-xzk- gS rks B dk Hkkj Kkr dhft,A 
Question No 6- The average weight of A, B and C is 45 kg. If the average weight of A and B be 40 kg. and that of B and C be 43 

kg. then find the weight of B. 
 

 

iz'u&5 ;fn fpUg $ vkSj  rFkk la[;k;sa 9 vkSj 4 dks vkil esa ifjofrZr dj fn;k tk;s rks fuEufyf[kr esa dkSu lk 
lehdj.k lgh gksxk\ 
(i) 94 7+97=329  (ii) 47  9+94=18 

(iii) 94  7+47=329  (iv) 49 7+49=7 

Q.No.-5 If the symbols + and  and numbers 9 and 4 are interchanged then which of the following equations is trace. 

 (i) 94 7+97=329  (ii) 47  9+94=18 

(iii) 94  7+47=329  (iv) 49 7+49=7 

iz'u&6 fuEufyf[kr v{kj lewgksa dks nh xbZ rkfydk ds vuqlkj dksMc) djks& 
Q.No.-6  Code the following group of letters as per the given table 

                 XAFRSM, KAXFRU, FXVASK, RJMUSV 
           v{kj (Letter) : A M V R S F K J U X 

           la[;k dksM (Number Code) : 6 4 3 5 8 0 2 7 9 1  

 

[k.M&3 
 SECTION-3 

 

¼vad&¿8×5À 40 vad½ 
¼izR;sd iz'u&08 vad½ 

 
iz'u&7 ,d la[;k nks vadksa dh gSA vadksa dk ;ksx 7 gSA ;fn la[;k ls 45 ?kVk;k tkrk gS rks la[;k ds vad vkil esa 
cny tkrs gSaA la[;k Kkr djksA  

Question No 7- A number consists of two digits. The sum of digits are 7. If 45 is subtracted from the number, its digits are 

interchanged. Find the number. 
 
iz'u&7 /kkrq dh v/kZo`Ùkh; pknj ftldk C;kl 28 ls-eh- gS eksM+dj ,d [kqys 'kkadoh; I;kys esa ifjofrZr dh tkrh gSA 
I;kys dh xgjkbZ ,oa {kerk Kkr dhft,A 
Question No 7-  A semi circular sheet of metal of diameter 28cm is shaped  into an open conical cup. Find the depth and 

capacity of the cup. 

 

Hkkx&1 

 

Hkkx&2 

 

Hkkx&3 

 

Hkkx&5 

Hkkx&1 

Hkkx&2 

Hkkx&4 



iz'u i=&"k"B ¼xf.kr ,oa rkfdZd ;ksX;rk½ 
 

 
iz'u&7 xf.kr fo"k; esa A, B  vkSj C esa Øe'k% 20] 40 vkSj 80 vad izkIr fd;s] bls o`Rrkdkj ys[kkfp= }kjk iznf'kZr djsaA  
Question No 7- In mathematics Subject A, B and C get 20, 40 and 80 marks respectively. Draw a Pie-chart and depict it. 

 
iz'u&7 fuEufyf[kr rkfydk dk /;kuiwoZd v/;;u djks ,oa uhps fn, x, ç'uksa dk mÙkj nks& 
ijh{kk esa 100 ijh{kkfFkZ;ksa dk muds }kjk HkkSfrd 'kkL= ,oa jlk;u 'kkL= esa çkIr vadksa ds vk/kkj ij oxhZdj.k & 
Question No 7- Study the following table carefully and answer the questions given below- 

Classification of 100 students based on the marks obtained by them in physics & chemistry in an examination- 

 
 
 
 
 
 
 
 
¼i½ mu ijh{kkfFkZ;ksa dh la[;k Kkr djks tks dqy esa 40% ls de vad çkIr djrs gSaA 

Find number of students scoring less than 40% marks in aggregate. 

¼ii½ ;fn HkkSfrd 'kkL= esa mPp v/;;u ds fy, 60% vad çkIr djuk vko';d gS rks HkkSfrd 'kkL= esa mPp v/;;u ds 
fy, fdrus Nk= ;ksX; gSa\ 

 If at least 60% marks in physics are required for pursuing higher studies in physics, how many students will be eligible to 

pursue higher studies in physics? 
¼iii½ jlk;u 'kkL= esa mÙkh.kkZad 30 gksus ij mÙkh.kZ gksus okys ijh{kkfFkZ;ksa dh la[;k ,oa dqy esa mÙkh.kkZad 30 gksus ij mÙkh.kZ 

gksus okys ijh{kkfFkZ;ksa dh la[;k esa varj Kkr djksA 
 What is the number of students passed with 30 as cut-off marks in Chemistry and those passed with 30 as cut-off in 

aggregate.  

¼iv½ jlk;u 'kkL= esa de ls de 60% vad çkIr djus okys ijh{kkfFkZ;ksa dk çfr'kr Kkr djksA 
         Find out  percentage of students obtained at least 60% marks in chemistry. 

 
iz'u&7 ;Fkk---------------------------------------------------------------------------------------------------    
Q.No.-7 ------------------------------------------------------------------------------------------------------------ 

[k.M&4 
 SECTION-4 

 

¼vad&¿20×2À 40 vad½ 
¼izR;sd iz'u&20 vad½ 

¼bl [k.M esa fofHkUu Hkkxksa ls dqy 03 iz'u fn, tk,axsA  
¼;s lacaf/kr iz'u i= ds dqy 05 Hkkxksa esa ls fdUgh Hkh 03 Hkkx ls gks ldrs gS½ vH;FkhZ dks buesa ls dksbZ 02 

mRrj nsus gksaxsa½ 
iz'u&8  n'kkZb;s fd a, b, c,d lekuqikr esa gksaxs ;fn % 
Question No 8- Show that a, b, c, d are in proportion if : 

(i) (6a+ 7b) : (6c+7d) : : (6a-7b) : (6c-7d) 

(ii) (2a2+3b2) : (2c2+3d2) : : (2a2-3b2) : (2c2-3d2) 

(iii) (a+b+c+d) (a-b-c+d) = (a+b-c-d) (a-b+c-d 
 

iz'u&8 nks iwjd dks.kksa ds f=dks.kferh; vuqikrksa ds e/; laca/k çkIr djks vFkkZr~ n'kkZvks fd& 
sin (90o- 0)=cos 0 

cos (90o- 0)=sin 0 

tan (90o- 0)=cot 0 

cot (90o- 0)=tan 0 

cosec (90o- 0)=sec 0 

sec (90o- 0)=cosec 0 

Question No 8- Find the relations between the trigonometrical ratios of two complementary angles i.e. show that : 
sin (90o- 0)=cos 0 

cos (90o- 0)=sin 0 

tan (90o- 0)=cot 0 

cot (90o- 0)=tan 0 

cosec (90o- 0)=sec 0 

sec (90o- 0)=cosec 0 

iz'u&8 ,YxksfjFke dh egRoiw.kZ y{k.kksa dks Li"V dhft, A  
Question No 8- Explain important features of Algorithm. 

 

¼;Fkk %& ;s iwNs x, iz'u 'ks"k Hkkx 04 ,oa Hkkx 05 esa ls Hkh gks ldrs gSaA½ 
 

 40 ,oa Åij 
40 and 

above 

30 ,oa Åij 
30 and 

above 

20 ,oa Åij 
20 and 

above 

10 ,oa Åij 
10 and 

above 

0 ,oa Åij 
0 and above 

HkkSfrd 'kkL= 
Physics 

9 32 80 92 100 

jlk;u 'kkL= 
Chemistry 

4 21 66 81 100 

dqy vkSlr 
(Aggregate) 

average 

7 27 73 87 100 

Hkkx&5 

Hkkx&1 

Hkkx&3 

Hkkx&3 

Hkkx&4 

Hkkx&2 



¼bl [k.M 
¼;s lacaf/kr iz'u i= ds dqy 05 Hkkxksa esa ls fdUgh Hkh 02 Hkkx ls gks ldrs gS½ vH;FkhZ dks buesa ls dksbZ 01 

iz'u&9 ckj&xzkQ fdlh daiuh ds fofHkUu O;; enksa ds varxZr
gSA xzkQ dk v/;;u dhft, ,oa mlds i'pkr~ fn, x;s ç'uksa ds mÙkj nhft;sA
Question No 9- The bar-graph given below show's the percentage distribution of total expenditures of a company under 

various expense heads during 2010. Study the graph and answer the questions that follow:

 

 
¼ i½ _.k ij C;kt ;krk;kr ij O;; ls fdrus çfr'kr
The expenditure on the interest on loans is by what percent more than the expenditures on transport?

¼ ii½ v/kkslajpuk ,oa ;krk;kr ij dqy [kpZ dk dj ,oa _.k ij C;kt ij dqy [kpZ dk D;k vuqikr gS
What is the ratio of the total expenditure on infrastructure and transport to the total expenditure on taxes and interest on 

loans?  

¼ iii½ ;fn foKkiu ij [kpZ :- 2
If the expenditure on advertisement is Rs. 2.10 crores then find the difference between the expenditures on transport and 

taxes. 
¼ iv½ daiuh dk dqy O;; 'kks/k ,oa fodkl ij O;; dk fdruk xquk 
The total amount of expenditures of the company is how many times the expenditure on research and development?

 

iz'u&9 ;Fkk---------------------------------------------------------------------------------------------------
Q.No.-9 ------------------------------------------------------------------------------------------------------------

¼;Fkk %& ;s iwNs x, iz'u 'ks"k Hkkx 01] 0

0

5

10

15

20

25

Hkkx&4 

Hkkx&5 

iz'u i=&"k"B ¼xf.kr ,oa rkfdZd ;ksX;rk½ 
 

[k.M&5 
 SECTION-5 

 

¼vad&¿40×1À 40 vad½ 
¼izR;sd iz'u&40 vad½ 

 
¼bl [k.M esa fofHkUu Hkkxksa ls dqy 02 iz'u fn, tk,axsA 

ds dqy 05 Hkkxksa esa ls fdUgh Hkh 02 Hkkx ls gks ldrs gS½ vH;FkhZ dks buesa ls dksbZ 01 
dk mRrj nsuk gksxk½ 

 

ckj&xzkQ fdlh daiuh ds fofHkUu O;; enksa ds varxZr o"kZ 2010 esa gq, dqy O;; ds çfr'kr~ forj.k dks n'kkZrk 
gSA xzkQ dk v/;;u dhft, ,oa mlds i'pkr~ fn, x;s ç'uksa ds mÙkj nhft;sA 

graph given below show's the percentage distribution of total expenditures of a company under 

ense heads during 2010. Study the graph and answer the questions that follow: 

;krk;kr ij O;; ls fdrus çfr'kr T;knk gS\ 
The expenditure on the interest on loans is by what percent more than the expenditures on transport?

v/kkslajpuk ,oa ;krk;kr ij dqy [kpZ dk dj ,oa _.k ij C;kt ij dqy [kpZ dk D;k vuqikr gS
What is the ratio of the total expenditure on infrastructure and transport to the total expenditure on taxes and interest on 

2-10 djksM+ gS rc ;krk;kr esa O;; ,oa djksa esa O;; dk varj Kkr djksA
If the expenditure on advertisement is Rs. 2.10 crores then find the difference between the expenditures on transport and 

½ daiuh dk dqy O;; 'kks/k ,oa fodkl ij O;; dk fdruk xquk gS\ 
The total amount of expenditures of the company is how many times the expenditure on research and development?
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The expenditure on the interest on loans is by what percent more than the expenditures on transport? 

v/kkslajpuk ,oa ;krk;kr ij dqy [kpZ dk dj ,oa _.k ij C;kt ij dqy [kpZ dk D;k vuqikr gS\ 
What is the ratio of the total expenditure on infrastructure and transport to the total expenditure on taxes and interest on 

varj Kkr djksA 
If the expenditure on advertisement is Rs. 2.10 crores then find the difference between the expenditures on transport and 

The total amount of expenditures of the company is how many times the expenditure on research and development? 
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